

正誤表

98 頁, (3.25) 式

$$\begin{aligned} \text{誤} \quad V_x' &= \frac{(D_x - 32.5)}{5.1} \cdot \sqrt{\frac{M_x'}{217}} \\ \text{正} \quad V_x' &= \frac{(D_x - 32.5)}{5.1} \div \sqrt{\frac{M_x'}{217}} \end{aligned}$$

98 頁, (3.26) 式

$$\begin{aligned} \text{誤} \quad V_y' &= \frac{(D_y + 57.6)}{6.0} \cdot \sqrt{\frac{M_y'}{212}} \\ \text{正} \quad V_y' &= \frac{(D_y + 57.6)}{6.0} \div \sqrt{\frac{M_y'}{212}} \end{aligned}$$

99 頁, (3.27) 式

$$\begin{aligned} \text{誤} \quad V_1 &= \frac{(E_1 + 95.3)}{7.3} \sqrt{\frac{m_1'}{m_1}} \\ \text{正} \quad V_1 &= \frac{(E_1 + 95.3)}{7.3} \div \sqrt{\frac{m_1'}{m_1}} \end{aligned}$$

99 頁, (3.28) 式

$$\begin{aligned} \text{誤} \quad V_2 &= \frac{(E_2 - 16.2)}{3.7} \sqrt{\frac{m_2'}{m_2}} \\ \text{正} \quad V_2 &= \frac{(E_2 - 16.2)}{3.7} \div \sqrt{\frac{m_2'}{m_2}} \end{aligned}$$

99 頁, (3.29) 式

$$\begin{aligned} \text{誤} \quad V_3 &= \frac{(E_3 - 41.0)}{2.2} \sqrt{\frac{m_3'}{m_3}} \\ \text{正} \quad V_3 &= \frac{(E_3 - 41.0)}{2.2} \div \sqrt{\frac{m_3'}{m_3}} \end{aligned}$$